100- " 20,0
- C DESMOLUPO
) P mkg T
90- '\i f -18,0
. [— -
80- ™ -16,0
: TN \ I
: // N [ TENERE'
70— / \ —-14,0
60— 7/ -12,0
50- / -10,0
40~ -8,0
: _/__—-—\ L
30- (’ %kﬁ/\s 6,0
20- Vg -4,0
- 19,6° 1002 hPa 23% G=2.72% -
10 -2,0 | 03/02/2022
: 20,9° 994 hPa|41% G=2.70% -
N giri i
0_lllllllll|lllllllll|lllllllll|lllllllll|lllllllll|lllllllll|lllllllll|lllllllll|lllllllll'lllllllll|_0[0
2000 3000 4000 5000 6000 7000 8000 9000 10000 11000 12000
Losses(Nm) Albero DIN
21,1| 6 |77,6 ch 9696 giri 6,7 mkg 6894 giri
37,3| 6 |82,4 ch 9728 giri 7,1 mkg 6997 giri
0,0 | 0 [0,0ch 0 giri 0,0 mkg 0 giri
0,0 | 0 |0,0ch 0 giri 0,0 mkg 0 giri
0,0 | 0 |0,0ch 0 giri 0,0 mkg 0 giri
0,0 | 0 [0,0ch 0 giri 0,0 mkg 0 giri
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